Solution.

D
o B lzkips rﬂ’\ly‘% Dy
I T \/ I

3 kips (1)

[

A - > P
N Ygrps(YT N Frpsle T —
Y L
3 Kips 3 kips
2"‘ 2"‘
Fep- Enfire Trvss cew 4 9
wl-M Y

Eguilibvivm  Eguations
’ v

3 wps (#44) + Bkips (20) —Ex (ks #+) =0

[ﬁMD:D]
I8 MF’# = lzKrps €—

[1 8 4

CZF,(':OJ '_'E)("’D)( =0
ond ﬁ)x‘—' k2 f«,;:}

Dx= —lzKps &—

Ey=

C?Fa:oj -3 I'/Lfs- 3!-4!,95 —03 -0
DQ: -6 Kep s \L amﬁ( @3: ¢ k'P.S ‘r]

fro
:"”/r
Jmu A JFA& E@ua [1brivm EﬂUMHUﬂS
% v
——)‘ = -3 _-5_’_1: =
sAs %%D’ @@DJSPS*SM_&, 0
A = > FAB-: % (3&1;5): SklP.S (-r)

T F_ =0

Fac
CZF)(:DJ FAC. +_§ Y
ps (1)

BHP
Fj = A F & e K = — Yk
B JO!J AC ~ i (5 ‘95)
wlwl chz ‘/-K:ps (C)’




JowA C Fac Eguihbrivwm  Egua fron s

AN
E?Fxso:) i keps — Fop = O
4 Kips st Fe Fee= 4kps (O
N2 (£F=0) -3kps + Fec =0
ke Fec= 3 kips (1)
FBD- Jownt C

Eq vt l1brivm Ef]uu'/-w'uns

CiF‘K:D] '—’E FBE, &= | 2 k-'los 4 "f'lﬁ',os =0

FEE = "% (9 M[:S) = =10 Kps ()

and Eg: 10 Kips Cej]

Foe= —2 (—tokps)s & Kps ()

Jont D s
bk‘f’j E?}Ullllforluyv\ Eéu"‘ﬁ()nj
Fﬁ‘g lli{‘f;s CZFX:DJ _FB_D + 12 k’“PS =0
h o7 Fap= 12 kips (T)
CAe
6K C2Fy=0) 6 kps— GKipS =6
Feb— Joirnt D O=0 v~

JordA B s a "Spana I
Vst ay o clech Jou..J*r/ M+ f”ﬁ)"‘



ot B

K ° 12 K17
i) fr< >
i (r*(’ s 0
i{ d 7 3 .'3/,:.;(104"('{'—3) 6 Kf
L,
5’("}95 j/(gFf')}/r;
7 v T~ 10K pS
Bk
FBD>- JonA B

Equilibrium  Equafons
’ v

(Z2Fx=0)

25)

—‘H’t,as + 12 kips — & Kps = 0

-3 kiPS —3P'FS

=0 w

+ b Kps

-

0





